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/*if_test.c OANERE </
#include<stdio.h>
int main()
{
int a;
printf("=ERELE ¥n");
if(1)
{
printf("FIZRREIN S, ¥n");
ks
if(0)
{
printf("&[ZRRSNELY, ¥n™);
s
[*RDOR—2(H5i<*/
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[*RINR—2DRE >/

printf("1 () £=IX0 (&) Z# A AL TTELY, ¥n™);
scanf("%d", &a);

if(a)
{
printf("ETY ., aD{EILOLIS TY , ¥n");
s
else
{
printf('4 T3, aN{EILZ0OTT , ¥n");
}
printf("EER T¥n");
return O;
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printf("BILEF TY . ¥n");
} NG
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if(a==Db)
{ ('RCEHFTY )
printf("RICLEFT9 ., ¥n");
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/*relation.c BREEFER(OAVNEEE ) */
#include<stdio.h>

int main()
{
int a;
intb;

printf("2 D DE#HZE A HLTTF L ¥N");
scanf("%d", &a);
scanf("%d", &b);

if(a==b)
{
printf("RICEF T9 . ¥n");
b5
else
{
printf("RE58FTY ., ¥n");
b5
return O;
} 17
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if(a)

{ X NG
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21

HE3

{

/* logic.c  FREERFERER( IAUMERS ) */
#include<stdio.h>
int main()

int a;

int b;

int c;

printf("32NDEHZ A AL TTFEL¥N"Y);
printf("a=");

scanf("%d", &a);

printf("b=");

scanf("%d", &b);

printf(*'c=");

scanf("%d", &C);

/* ROR—=2HS */
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/*HRE*/
if((a<b) && (a<c))
{

}

if((b<a) && (b<c))
{

}

if((c<a) && (c<b))
{

}

return O;

printf("amM&/NTT . ¥n™);

printf("b AR/ TI . ¥n");

printf("cAR/INTI , ¥n");
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if(RH=H1)
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EIREITE S
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{

}
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else if(%&#HLn)

{
ERETE SN
b
else
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if(&H=X1)
{
X1
¥
else if(&H=2)
{
X2

¥
else if (5#3)

X3

ZE NI
ERETHA B, IXEBENTED,

if(RH=)
: = |
EIREITE D 1 ET’IfK’E%H’%Jo

} N

if(a%2==1)
{
printf("al¥F T . ¥n");
if(a>0)
{
printf('alXIEDFH T, ¥n");
3

26




2000 ETOT ST EEER FE5EEHIZXKD Ik

ZEIKEOT7O—Fv—k

if(SfaT)
€

OO

if( = 2)
{

by

X X

AA AA

27
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/*
R B :yyyy/mm/dd
YERE  REKED
FEEF S BOOBOXX
YV—AXI74JL:quad_equation.c
E{TI74IL:quad_equation
EHEA:
2 AERa(x*X)+bx+c=0N@EERHZTOT S L,
HEBHEAVDOT, -ImDIAV/IRMIA T av B E,
AR
FEANNGIDDFZEaA,b,cEANT S,
alZ[ZOUSNDIEEDEHREEZA DTS,
b,clZIFEEDEREEZANT S,
a,b,cOIBEFICANT S,
A
FEHNI2DODF (ERE)ZHNT S,
>/
/* RDOR— (5w */
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/* fwE >/

#include <stdio.h>
#include <math.h>

int main()

{
/> EHEES */
double a; /2R DFE>/
double b; /*1LRDFE>/
doulbe c; /*TEHIE*/

double dis;  /*#IBI= (discriminant) D{E*/
double root_dis; /* ¥|BIXDIEDFHIR*/

double soll; /*/INEWLNHDEE>/
double sol2; /*RKEWNAHDEE*/

/*H5E<*/
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/* fE */

/> BE. EHIEDOA N>/

printf ("2 RDIEDFZREHEA AL TT I, a=2¥n");
scanf("%lf", &a);

printf(" 1 ROEDFZREEA AL TT I, b=2¥n");
scanf("%lf", &b);

printf("EHIBEEZA DL TTF I, c=2¥n");
scanf("%lf", &c);

/*AREFvo*/
if(a == 0.0)
{

/*a=0.0DLEIE 2R AKX THELDTERT*/
printf(“2R D% #al%0.0LISHZL TTFELY, ¥n™);
return -1;

by
* ChUBETIE a (X0.0uU54>/

/*85< */
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/* fE */
dis = b*b - 4.0*a*c; /* HIFKDEE */

if(dis>=0.0) /* EHEHEFETSHEE */
{
/* dislEELGDOTEARETETES */
root_dis = sqgrt(dis);
soll=((-b)-root_dis)/(2.0*a);
sol2=((-b)+root_dis)/(2.0*a);
printf("(%06.2f) (x*x)+(%66.2f)x+(%6.2f)=0.0¥n"
,a, b, c);
printf(" Dz (L. %06.2fE%6.2fTH , ¥n", soll, sol2);

¥
else /* EH@ENELELLNGE */

printf("(%66.2F) (x*x)+(%6.2f)x+(%6.2f)=0.0¥n"

,a, b, 0);
printf("Z#E= I EHEILHYEE A, ¥n");
b
N return O; a1
E1THI1

$ ./quad_equation
2RDIBDFZRBEANLTTFSN  a="7

1.0

1 RDEDFZRBEAALTTFE, b="
-3.0

EHIEZXZAALTTFEL =7

2.0

( 1.00)(x*x)+( -3.00)x+( 2.00)=0.0
DfElIX. 1.00& 2.00TY,

$
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2RDEDFRBEANLTTS  a="7

1.0

IRDEDF#HEAHNLTTFEL, b="7

1.0

EHEZANALTTFS L, c=7

1.0

( 1.00)(x*x)+( 1.00)x+( 1.00)=0.0
Timl-9 EHEEHYFEE A,
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